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QUESTION 1

How many zone sets can be active in a fabric at a single time? 

A. one 

B. two 

C. three 

D. unlimited 

Correct Answer: A 

 

QUESTION 2

Your current backup solution includes a backup server and six tape drives within a tape library. The routers are
connected to the SAN and the servers are zoned on the SAN to see the array. The server sends a set of commands to
the tape 

routes causing the routers to talk directly to the volumes and copy them to the tape drives. Which backup infrastructure
type would describe this process? 

A. D2D (disc-to-disk) 

B. 3PC (3rd party copy) 

C. SSO (shared storage option) 

D. D2R2T (disk to route to tape) 

Correct Answer: B 

 

QUESTION 3

What describes RAID 3? 

A. Independent access with dedicated parity 

B. parallel access with parity 

C. independent access with interleaved parity 

D. striping 

Correct Answer: B 

 

QUESTION 4
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What are two advantages of virtualization? (Choose two.) 

A. improves data integrity 

B. allows file sharing between dissimilar applications 

C. increases the storage capacity of available disks 

D. increases the number of storage devices an operator can manage 

E. provides higher asset utilization 

Correct Answer: DE 

 

QUESTION 5

What does a NAS head do? 

A. It prevents volume virtualization 

B. it connects other NAS devices to the LAN 

C. It connects to a LAN attached tape device 

D. It connects to block storage devices 

Correct Answer: D 
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